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Haiitu unTerpanst

1) 1850. [x%e*dx Oteer: —e (x> +2x+2)+C.
.- x* X
2) 1837. | X-arctg xdx OtBerT: arctgx—5+C.
) 2
3) 1841. | x-tg? xdx OtBeT: thX—%+ln‘cosX‘+C.
4) 1858. .(arcsin x )* dx OtBer: X-arcsin® X +2+v1—x* arcsinx —2x+C.
'. eaX
5) 1862. |e® -cosnxdx Orer: ———(nsinnx+acosnx)+C.
¢ n"+a
6) 1863. .sin(ln X)dx OtBer: X(sinln X2— cosnx) +C.
7) 1843. 'lgx —=—dx OTtBeT: —L(ng+ ! j+C
S X’ 2x° 21n10
8) 1844. .%dx OrBer: 1+ x> -arctg X —In| X+ 1+ X ‘+C.
A1+ X
9) 1905. [e**dx Otser: 2eV*(Vx-1)+C.
sy 2,
10) 1908, [X— 290X g
1+Xx
rctg>x
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+ ln‘ cosarctgx ‘ +C =
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arctg”x _ In(l1+x )+C.

= X-arctgx —
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11) jLandx OtBerT: 1+1nx+l+C.
(XInx) XInx X
12) jlnx_l OtBer: ——+C.
In? x In X
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